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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2014 

BECE-002 : INDIAN ECONOMIC DEVELOPMENT : 
ISSUES AND PERSPECTIVES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all questions as per the instructions given in 

each section. 

SECTION-A 

Answer any two questions from this section in 
about 500 words each : 	 2x20=40 

1. Explain the structural changes that take place in 
an economy during the process of transformation 
from a developing to a developed economy. Are 
these changes reflected in the Indian economy 
during the last six decades ? 	 8+12 

2. What do you mean by 'demographic dividend' ? 
How does it influence the dependency ratio in an 
economy ? Highlight the conditions that are 
necessary to derive these advantages. 	6+6+8 

3. Outline the distinguishing features of the Indian 
financial system. Also outline the limitations of 
monetary policy pursued in India. 	 10+10 
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4. Briefly account for low levels of productivity in 
Indian agriculture. What measures will you 
suggest to raise productivity levels ? 	 10+10 

SECTION-B 

Answer any four questions from this section in 
about 250 words each : 	 4x12=48 

5. State in brief the characteristics of the service 5+7 
sector in India. Also examine in brief the factors 
responsible for the growth of the service sector in 
India. 

6. Distinguish between foreign direct investment 6+6 
and foreign portfolio investment. Also explain 
in brief the factors that affect inflow of FDI to 
India. 

7. Argue, in brief, in favour of the policy of 8+4 
protection. Also state, in brief the factors that 
influence foreign portfolio investment into India. 

8. (a) Distinguish between 'devaluation' and 4+8 
'depreciation. 

(b) The exchange rate of the rupee on January 
1, 2011 was $ 1= Rs. 45. On January 1, 
2012 the exchange rate is $ 1= Rs. 50. Can 
we say that the rupee is undervalued on 
January 1, 2012, on compared to January 
1, 2011. Why or why not ? 

9. Distinguish between the terms 'labour force' and 4+8 
'work force'. Also examine the different measures 
of employment used in India. 
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10. Discuss in brief the issues involved in : 	6+6 
(a) rural water supply, and 
(b) urban water supply in India 

SECTION-C 

Answer any two questions in about 100 words 
each : 	 2x6=12 

11. Examine in brief the trends in inequalities of 	6 
income in India in recent years. 

12. Highlight the major initiatives taken by the 	6 
government to promote telecommunication sector 
in India. 

13. Distinguish between : 
	 2+2+2 

(a) revenue deficit, 
(b) budgetary deficit, and 
(c) fiscal deficit. 

14. Write a short note on each of the following : 2+2+2 
(a) Organic farming 
(b) Contract farming 
(c) Agricultural subsidies 
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	7CrrN chi chg 

	t, 2014 

-4-4.1ffs.-002 : iTrraitt apiwwwir T gahlti : 

lit 74 tirrgq 

717V : 3 ..tu2 	 37fE/W-d7 31T : 100 

: w 	TIT 4 f- 	w//tin TR7Y drH f1l 

(OS - 

t 500 	dlt 	: 	2x20=40 

1. fachit1kn 1 	con WI 3145P7-g1 	311 q1/1 fir 
# 	rchki 	4t-c1-11c-4-111 Yrtc14-1 	f? TE;rr 

f1r 6 Tq-f-4 ITF-d. 	 74f 7 t? 8+12  

2. " 	Tr T" w 3T149-Fr: t? 7rk # 
fffitcdr 31-1-crra- 	1-e41 71-1T4 	? 74-*-f 	T8T4 

1-  	 qicii -WI TT i)-ir •TR4 t? 	 6+6+8 

3. Wd7-11 	fad rt Tcoic11 9.17ff 

1,1r-*-tr-dzff 	 10+10 

4. ITR-t-zr c 	14-1 dc1-11 qclf 	.TTTO 	-4 -14 	111 

I do likdi i7R 	 aTrq. 	Tgrrq 	? 10+10  
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t.g - 

f-Wt 'MT 1779i t arlt fffT4 I T 250 5At : 
4x12=48 

5. ITR-fftTM-i -nfk-Rifaq-Tcrrkl 774-)74;1#-If--z 
1491-1 	 ftTr 141 	i 	 5+7 

6. fdt7ftf i 3T'Y fa-kt tr-AT 	194q TcrE 6+6 

19 	Tfkftf9-k7f t 

cn't 4R9-cff ogRAT 

7. titqui -91fdt t 	14 Tffk-f71 t=04 14ci4 k I fq---t 	8+4 
f9-4T 	311-1F-Td 	qf 	 9fr 	 

8. (a) 	3-1-TIrT9. 3iT41 t 1:rjf - 1T1 14 9)-q ch I 	4+8 

(b) 	7-T79-dt 2011 	v,ch 	51c-It c a 14-1q 

T. 45917--dtzr -Fcr4W1, 1 1 . 9-a-# 2012 cil1 
50 Tufil• 	 1 	2011m1 cfIit11 
1 	 2012 ch) 41T-cdr 715-1 chi 3-TgIrrTi 

217? T:4 TIT cl-q). 	? 

9. 'N1=1 Vir- f` 	̀trzi 	\31-1 71f4Tr i 	4q   I 4+8 
9.17U 14 -5171-*1 t1,4 41It 	HIlich '111. '4—d-1-471 

10. 4iItc-1 14 : 	 6+6 

(a) 4.114-11u1 	3-1* 3fr{ 

(b) W-6-4 AM 3-1TV 14 94q T47 chi I 
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7Ktg-Tr 

fffd I 	7T 	Tfil=fT 100 	2x6=12 

11. c1 -9-1-fff-z4 11 	6 IcI 	4 1-1Rcf ITT 4:1 Fa ,4 lcIr 

41-qcff oqRyAr 

12. IT-Rd 4 7 wcFP: .gm 	6 

3,3 I Li, 	:9-12p ch'I 	rpt-,* 	I 

13. 2+2+2 -71-EZ 	: 

(a) Tr-A7f "EfFT 

(b) •q--4a 7qTET 

(c) "F1TET 

14. 2+2+2 3-1-r—dTff. 	Tic.u-1161,-111(174 : 
(a) 4-doir-ich 

(b)  

(c) ".-111-1-1 
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